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Problem quickname: 7760

b

Insert <, > or =

a) 4.6 4.06

d) 9.5 95

g) 0.7 0.705

j) —0.348 —0.349
2)
Insert <, > or =

a) —60.76 —6.67
d) 0.7 0.707

g) —88.50 — 88.5
j) 2.04 2.4
3)

Insert <, > or =

a) 7.08 7.8

d) 0.987 0.988

g) 6.46 60.64
4)

Insert <, > or =

a) 6.6 6.06

d) —14 —14

g) 0.105 0.1

j) —2.78 — 20.87
Good Luck!
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Worksheet

b) —6.55  —60.55
e) 0.945  0.946
h) 72 72

o

) 1.05 1.5
e) 75 7.5
h) 0.609 0.6
k) 10.91 1.19
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) 40 24 —4.42
£) 0 0.407

i) 0 594 —0.593
) 1740 174

¢) 0.656  0.657
f) =254  —25.40
i)8.05 85

6.1

£)0.903 0.9
i) 42.50 425

) 2.06 2.6
f) 0. 763 0.764
)0 0.202
1) 25 30  —25.3
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